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QUESTION 1

A user mentions that their home drive, that Is an export within a volume, is no longer allowing them to save files. The
drive reports that it Is full, even though It shows that minimal data is written to it.

Which statement would explain this behavior?

A. The mount is stale and uses a cached version of the volume.

B. Other users wrote to this user\\'s home drive.

C. Other files within the volume are also owned by the user, exceeding the user quota.
D. The client system needs to remount the export to show the proper space.

Correct Answer: C

QUESTION 2

You receive the "Unable to connect to the management gateway server'error when trying to connect to a node
management IP.

In this situation, how do you determine whether core dumps are generated for the mgwd user space process?
A. Log in to the nodeshell using the node console and collect the core dumps from the nodeshell.

B. Log in to the service processor and collect the core dumps from the service processor.

C. Log in to the clustershell using the node console and collect the core dumps from the clustershell.

D. Log in to the systemshell and collect core dumps from thesystemshell.

Correct Answer: B

QUESTION 3

Recently, a CIFS SVM was deployed and is working. The customer wants to use the Dynamic DNS(DDNS) capability
available in NetApp ONTAP to easily advertise both data UFs to their clients. Currently. DNS is only responding with
one data LIF. DDNS is enabled on the domain controllers.

TEEILver 1iF data-protocol is-dns-update-snablesd
=vml cifa 01l nf=s,cifs trus
avml cifs 02 cifs L3 AP
=rml mogmt none false=

i sntries were displaved.

clusterl::*> vaperver aervices dna dynamic—update show
Vs=rv=r Is-Enmbled Use-Secur= V=scrv=r FODOM T

=zrml fala= falae svml .demo . net Z4h
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Referring to the exhibit, which two actions should be performed to enable DDNS updates to work? (Choose two.)
A. Disable the -vserver-fqdn parameter for the SVM DDNS services.

B. Remove the NFS protocol from the cifs_01 data LIF.

C. Enable the -use-secure parameter for the SVM DDNS services.

D. Enable the -is-enabledparameter for the SVM DDNS services

Correct Answer: AD

QUESTION 4

A storage administrator reports that a monitoring toot is reporting that the storage controller reads between 90% to 93%
CPU use. You run the sysstat -m command against thenode in question.

ANYl+ ANYZ+ ANYI+ ANV4+ LNYS+ ANYE+ ANYT+ RANVS+ AVG CRPUD CPUL CPU2 CPU3 CPU4 CPUS CRPUE CRUT
Nwk_Excl Nwk Lg Nwk_Exmpt Protocol Storage Raid Raid Ex Xor Ex Target Rahuna WAFL_Ex (Rahu)
HAFL MPClean 3M Exempt Exempt S8AM Ex Intr Host Opa/s CE

99% 87% B3% 53% S2% T4% €6% 46% 52% 62% S54% S54% S54% S53% S53% 5S4t 53%

( 82%) 2% 0 37% 0% 13% 26% 40245 25%

55% 89% Be% T1% 55% 2 75% 2 65% 2 46% S54% 64% S56% S6% 56% 55% 56% 56t 56%
T3%) 1% a% 27% 0% 14% 7% 44963 25%

100% 25% 8e% 715 56% S0% 2% 44% 5B6% 53% 57% 57% 575 56% 56% 57% 574
{ 76%) % 0% A41% 0% 12% 2% 3293012 44%

35% a9% &65% 70% 55% 5% 1% S52% 55% 67% 56% 56% 5% 56% 56% S56€% 56%
{ 77%) 0% 0% 39% 0% 13% 22% 40034 37%

994% B9% Be® Tis S5b6% 50% T4k 47% S57% S0% 55% 554 55% 55&% 554 558 S55&
[ 77%) % 0% 43% 0% 13% 3% 39573 T70%

99% 285% Bd% 59% 33% 5% etk 35% 53% 65% 54% 54% S54% S54% S54% S54% S549%
{ 76%}) 3% 9% 37% 0% 14% 11% 41551 10%

259% 9% BE% T2% 55% S4% 9% 4% 59% 55% 55% 59% 60% 39% S59% 60% 606
T7%) 4% 0% 44% 0% 12% 11% 35750 955%

99% 89% B5% 70% S4% 15% 70% 53% 55% ©9% O56% S56% 56% S55% 55% S6% Se%
TER) 1% O% 4£3% o 13% 5% 35792 308

99% 5% B4% S9% 53% 7% 70% 52% S54% ©7% 55% S5E% 55% S55% 56% Se% 858
{ 77%) 3% 0k 47% 0% 14% T% 36943 47%

1% 11% 293% 0% 4% 1% 15% 1% 0% 3% 145%

1% 1% 329% 0% % 0% 14% 1% 0% 2% 165%

1% 0% 307% 0% 5% 0% 15% 3% % 2% 155%

1% 1% 255% 0% 5% 0% 16% 2% o% % 233%

1% 0% 256% 0% e% 0% 21% 4% 0% 2% 204%

1% i% 301% 0% &% 1% 15% 0% 0% 2% 165%

1% 1% 254% 0% 6% 0% 22% 4% 0% 3% 291%

1% 1% 253% 0% 6% 0% 19% 1% 0% 35 201%

1% 1% 273% 0% 7% 0% 22% 2% 0% 3% 195%

Referring to the exhibit, which statement is correct?
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A. The customer should be advised to exclude certain workflows to reduce use.

B. High network exempt use could be a problem.

C. You should immediately investigate further bygathering perfstat data and opening a support case.
D. The CPU Is not a first-order monitoring metric for ONTAP.

Correct Answer: C

QUESTION 5

Your customer has mounted an NFS SVM from a Linux client unci performance is very poor. The customer is certain
that they have jumbo frames enabled. They have verified an MTU of 9000 on both the Linux client and the broadcast
domain on the NetApp ONTAP 9.8 cluster.

olusterl::*> network interface show -ysecwver svml clusterd

Logical Status Ketwork Current Current Ia

Ym=rw=r Interface Admin/Oper Address=/Mas=k Node Bort Home
ayml clusterl

cifs 01 up/up 192.1¢8.0.131/24 clusterl-01 elf true

cifa D2 '::lp,-"u‘p 192 _ 168.0.132/24 clusteri-03 el Trus

jumbo. 01 up/up 152.168.0.201/24 clusterl-01 =0g tru=

Jumbo 02 upSup 192.168.0.202/24 cluaterl-02 alg True

mgmt upSup 152.168.0.130/24 clusterl=-01 =0c tru=

5 entries wera displayed.

slusterl::*> nstwork port broadcast—domain show —broadecast—domain Jusbo

IFapace Broadcast Update

Hams= Doms:in Nams MTH PEort List Atatus D=tsils

Defeult Jumbo 000
clusteri-0l:alf camplats
clustarl-0l:alg complets
clustezl-02:elf camplate
clusterl-02:elg complete

Referring to the exhibit, which ONTAP command will help isolate a possible MTU mismatch?

A network ping -1if jumbo 01 -vserver svml_clusterl -destination 192.168.0.210 -

disallow-fragmentation false -packet-size 1000

network ping -1if jumbe 01 -vserver svml cluaterl -destination 192.166.0.210
disallew-fragmentation true -packet-size 9000

network ping -1if jumbo 01 -vserver svml clusterl -destination 152.168.0.210
disallow-fragmentation true -packet-size 1000

D. network ping —1if jumbo 01 -vserver svml clusterl -destination 192.168.0.210
disallow-fragmentation true -packet-size 5000

A. Option A
B. Option B

C. Option C
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D. Option D

Correct Answer: B
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